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for the questions. :
Part I (F -91)

Q. No. 1 (a~-f) carries 1 mark each e 1x6= 6
Q. No. 2 -7 carries 2 marks each %6 = 179
Q. No. 8 -12 carries 4 marks each 4x5 = 20
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53 Total = 50

Part II (4 -52¢)

Q. No. 15 (a -f) carties 1 mark each _ 1x6= 6
Q. No. 16 - 21 carries 2 marks each _ 2xp = ]2
Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each ' 6x2 =12
: : Total = 50

Total (Part 1 & I): 50 +50 =100
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PART A - 7 wigx

(@) Define market economy. 1
TGN =IO ke fia | |

() What does a point below ' the production possibility frontier
indicate ? i 1
@Wﬂ@mﬁmﬁm@wmmﬁ@ﬁimﬁ%w?

() What is meant by inferior goods ? : 1
8 w3 e B qeme _ |

(d) What is an indifference curve ? 1
Feers @ e '

(e) If there is no change in quantity demanded despite a change in the

price of a commodity, what will be the price elasticity (ep) of
demand ? 1

aﬁamm%wﬁmmmww,
WWW@%’&W (ep)ﬁsm_:ri’?q'?

(D  What is a production function ? 1
BeaA e {5
Distinguish between positive economics and normative economics.
; _ 2
AL I SImefare SfREiT sl B |
Mention any two important factors determining price elasticity of demand.
: 2

mﬁwmwﬁ;%@_r%@rﬁaﬁww Ricwiet w1 @W@iﬁwmw;

Suppose, when the price of a good is 24, the quantity demanded is 25
units. As price increases to 3 5, the quantity demanded falls to 20 units.
Calculate the price elasticity of demand. : o hd

Wfa,mmﬁam4%crimmmﬁmaﬂﬁwzsawmmﬁm

mﬁﬁmwsﬁﬁ%ﬂfimﬂﬁmzeaﬁammm CFIS BIfERIR wq
Tt Ry = i
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10.
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Can there be some fixed cost in the long run ? Justify your answer.

1+1=2

MereTe 741 T AR A 2 (ONR Sexa TRyt e |
OR /[ 92ql

What is marginal pfoduct of an input ? ‘ 2
B! TAMIR A Testm 2
Write down the concept of normal profit. ot | 2
eI wieq QIRAs! &l | : o
What is monopolistic competition ? _ : | 2

aaﬂﬁ@aa‘%caﬁwaswﬁs?_

What does the Average Fixed Cost (AFC) curve look like ? Why does it

look so ? - 1+3-4
% %3 I (AFC) @RIUFR WIS i TR SiIgf corrat fae

' OR / 5931 _ ’
What is meant b)-f Returns to Scale ? Give the mearﬁngs of various itf?;iez
of Returns to Scale. _

TR e gfewe 6 gorme {fen srire wa afewmnes wd F

* What is an isoquant ? Why are the isoquants downward sloping ?

. 2+2=4
T Bl 1 52 T Seoli TR R oz
What does a firm wish to achieve ? What tk_ree conditions must hold for a

profit maximising firm in the short-run ? 1+3=4

maﬁaaw%@mﬁ%aﬁaﬁm@?@w-mwm

G I & OG5S sRe 27 wifRe

OR / 523y

The i:)roducﬁon function of a firm is gi\;;en 850 =0 ok Lo Calculate the
level of output (Q) when it employs 25 units of labour (L) and 9 units oi
capital (K). : : .
«SREI:IW 2D S T Q = 5LY2K 1/2 o wieg | 25 @59 Wi (L)
W% 9 G M (K) Frael Sl efovinias Sedme AR (Q) Ry
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11.

12

13.

14.

FRIEE Y& |

Explain fwo characteristics of perfectly competitive market.

o efscafrerge TeE 75 W e <

ccts of a rightward shift of demand curve on equilibrium

Explain the eff
of firms in the market is fixed. Use

price and quantity when the number
suitable diagram for your answer.

What is demand curve ? Show with the help of suitable diagrams how the

market demand curve can be derived from individual demand curves.
1+5=6

ﬁﬁm@aﬁ%-wf@ﬁ@mﬁmf@ww meﬁmmmﬂrﬁw

OR / 923t

Explain consumer’s optimum with the help of indifference curve

approach. 6

S (@9l ST TES (SIER SRR it

The short run Total Cost (TC) schedule of a firm is given below. Calculate
the TFC, TVC, AFC, AVC, AC a_nd MC schedules of the firm.

6
G4 2P TERETH 8 T (TC)@qngﬁmmi AfSHBR TFC, TVC,
AFC, AVC, AC &% MC SEPIb IR e 4| .
" Q o EG
0 10
1 30
2 45
g 55
4 70
5 90

SSTECON - - S pa)

OR/ 531

(C;}zfzz )th;hmeaning of Total Fixed Cost (TFC) and Total Variable Cost
. Show with the help of a dia th | s i
o gram that Total Cost (TC) is the sum

‘/ : 2+4=6
T2 %8 T (TFC) Wi 9 AR a0 (TVC) T 91l =il | o sigers (ngéan
(& TFC &% TVC I @I1IFEE 28 9 7 (TC) | |

PART B - < &iesf

15. (a) What is macroeconomics ? |
. 1
TR SR &e
(b)) What is autonomous consumption expenditure ? g6 |
FoF (Ol I AE T2
(c) Define excess demand in. . .
th i
St o he context of income and employment
” 3 ot . 1
i S Weel Faises gvere wfsRe siftvie ke fm
(d What are public goods ? | ' .
el w7 2 -
'(e) ‘What is balanced budget ? ' ias |
I ST 2 : '
N V\Eite down the meaning of flexible ex_change. rate. ' i
 ARTETE Riew 253 9L i -
16. What is GDP Deflator ? ' '
: 2
I T TR AT e |
| ' - OR/ 593
Define budget deficit and trade deficit. - 2
28T ECON g Contd



17

18.

19,

20.

21.

24,

What is th i '
i e differen
Investment ? ce  between Ex-ante investment and E
X-post
2

TOIRTS S 255 (c12r%) R a1 sty o

M Iy 5 P g .

SIS ASBY NLiEsaEio) IW Rz 75 R i, g 2

(RO ! (BoP) B2 BoPY 8y st ot St s 1+1=2

Suppose the GDP |

at market pri A
21100 crore. Nat price of a country in a e o
NG T T:x. Fiasctgrlér(;cqme from abroad is )s; 100 cr}:)iz hfrlllllar ylear is
Calcyl crore and Natj ~ € value of
-alculate the aggregate value of depreCia‘;t;ina] Income is 2850 crore.

[T 95 [
RIS G4 (PR T v GDPyp 3 #8519 3 1100 @sﬂ;

N [ o '
IS 299 &7 (NFIA) 2 100 I, % S B sAfRwe

R 150 I W wsiy
i WmWSSO@@?WW-W@mW

Tog s A > o
S COP 7 (A) 250 (=S, ST Foex srgerer 0-2 9% =iy vy

(Y) 24,000 @6 o' ereTiRre
Wﬂ@“\aﬁ'@%m_m@:?wqml AR R 29 Sfeveat )

28T ECON
[6]

at is Persona] Dlsposable Income '(PDI) ? ’ -
N

26. Differentiate between devaluation and depreciation of currency.

27.

OR / @241

The autonomous consumption in an economy is 500 crore and total
personal disposable income is 2 5,000 crore. If the marginal propensity to
consume (mpc) is 0-8, find out the level of aggregate consumption.

4

<51 S FEE (O AR 500 (R B SR 5 RS TH
5000 oIS Bl | AR Colst ekeTel 0-8 20, SAREGTS AR (olsi AR

il 41|
What is revenue deficit in a government budget ? Explain its implications
13-4

of revenue deficit.

SR AlCEte e A 2 ez i e S @7t AR Wy =

IR TR S N RN 2P TS A1 (4T

Explain the circular flow of income in a simplified economy with tw
sectors — households and firms.

o2 S I I — B BT <l Y LS A G AR
R AL :

0

; OR / &34t
Write down some of the limitations of using GDP as an index of welfare

of a country.

R G TR P 261 GDP T ARER I g et 7

What are the main functions of money ? How does money overcome the
shortcomings of a barter system ?

T 2 SR R B2 TR s R 2 RAIER et |
OR / @193t |
Briefly explain any four functions of the RBL

oSt RS @ (RBY) T [Accal B1R6T G ST <ot w41

X
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Full Marks : 100
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The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each 1x7 = 7

Q. No. 2 carries 2 marks each : 2x7 = 14
Q. No. 3 carries 4 marks (any one) 4x1 = 4
Q. No. 4 carries 5 marks each 5%x2 = 10
Q. No. 5 carries 1 mark each 1x5 = 5
Q. No. 6 carries 2 marks each 2x5 = 10
Q. No. 7 carries 4 marks (any one) 4x]1 = 4
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Q. No. 11 carries 4 marks (any one) 4x] = 4
Q. No. 12 carries 7 marks (any one) : 7x1 = 7
Q. No. 13 carries 1 mark each 1x5 = 5
Q. No. 14 carries 2 marks each 2x4 = 8
Q. No. 15 carries 10 marks (any one) 10x1 = 10
e Total =100
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SECTION A

(Reading Skill : 10 Marks)

Read the following passagﬂél carefully :

Among the natural resources which can be called upon
in national plans for development, possibly the most important
is human labour. Since the English language suffers from a
certain weakness in its ability to describe groups composed of
both male and female members, this is usually described as
“manpower”’. ' '

Without a productive labour force, including effective
leadership and intelligent middle management, no amount of
foreign assistance or of natural wealth can ensure successful
development and modernization.

The manpower for development during the next quarter

.Century will come from the world’s present population of

infants, children and adolescents. But we are not sure that
they will be equal to the task. Will they have the health, the
education, the skills, the socio-cultural attitudes essential for
the responsibilities of development ?

For far too many of them the answer is no. The reason
is basic. A child’s most critical years, with regard to physical,
intellectual, social and emotional development, are those before
he reaches five years of age. During those critical formative
years he is cared for almost exclusively by his mother, and in

28T ENGL e

many parts of the world the mother may not have the capacity

to raise a superior child. She is incapable of doing so by reason

of her own poor health, her ignorance and her lack of status
and recognition of social and legal rights, of economic parity,
of independence. One essential factor has been overlooked or
ignored. The forgotten factor is the role of women.
Development will be handicapped as long as women remain -
second-class citizens, unedﬁcated, without any voice in family
or community, married when they are still practically children,
and henceforth producing one baby after another, often to see

half of them die before they are of school age.

We can enhance development by improving “women

power”, by giving women the opportunity to develop

‘themselves. Statistics show that the average family size

increases in inverse ratio to the mother’s years of education —
is lowest among college graduates, highest among those with

only primary school training, or no education.

Malnutrition is mest frequent in large families, and
increases in frequency with each additional sibling. The
principle seems established that an educated mother has

heathier and more intelligent children, and that this is related

to the fact that she has fewer children. The tendency of

educated, upper class mothers to have fewer children operates

even without access to contraceptive services.

28T ENGL (3] L ey



The educational level of women is significant also
because it has a direct influence upon their chances of
employment, and the number of employed women in a
country’s total labour force has a direct bearing on both the
Gross National Product and the disposable income of the
individual family. Disposable income, especially in the hands
of women, influences food purchasing and therefore the
nutritional status of the family. The fact that the additional
income derives from the paid employment of women provides
a logical incentive to restrict the size of the family.

On the basis of your reading of the passage answer the
following questions :

- (A)  Choose the most appropriate option : 1x4=4

(@ Among the natural resources which can be called
upon in national plans for development —

() the most important is certainly human
- labour. -

(i) the most important is possibly human labour.

(i) the least developed is certainly human
labour.

(iv) the least developed is imdoubtedly human
labour. SHE el O

(b) Without a prodﬁc'tive labour force, including
effective leadership and intelligent middle
management :

(i)  no productive work is possible.

i) entrepreneurs'willhincur heavy loss.

28T ENGL _ [4]
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(c)

(d)

(iii) -

(iv)

economic development will not keep pace
with national movements.

no amount of foreign assistance or of natural
wealth can ensure successful development
and modernization.

The ‘manpower devélopment during the next
quarter century

()

(it)

will be adversely affected by the threat of
war. '

will come from the world’s present

population of infants, children and

(iii)

(iv)

‘adolescents.

will be taken care of by the current emphasis
on free education for women.

will be adversely affected by the Cogntry's
economic losses and political instability.

“Women power” means

(i)

. (1)

(iii)

| (iv)

‘giving women the opportunity to develop

themselves.

giving women the opportunity to fight_'
themselves. '

giving women the opportunity to dominate
others. :

giving women the opportunity to befool
others.

[5] _ Conli-—



(B) Answer the followmg questions briefly : 1x6=6

(@) What will be th-e source of the _manpower‘

development during the next quarter century ?

(b)) During which period is a child’s growth
maximum ? |

(¢) Why can't the first teacher be effective in some of
the regions of India ?

(d) What will happen to deveIopmen’t if the womenfolk
are neglected ?

(¢) How can we accelerate the rate of progress ?
(f  Whatis the difference between an educated mother

and an illiterate mother ?

" SECTION B

(Advanced Writing Skills 25 Marks)

You are the Proprietor of Grassland Resort, Kaziranga. Write:

an advertisement to be published in an English newspaper
offering attractive discount to Holiday packages. |
(Word Limit : 50 words) ' Eine ol

O8TENGL | : e

OR

You are Anil/Amrita, the Cultural Secretary of Tezpur Govt.

Higher Secondary School. You are planning to organise

~a cultural programme. Write a notice for the school

notice-board inviting names of students willing to participate.
(Word Limit : 50 words) ‘ : 5

You are Imran/Rita of Sunrise Academy, Guwahati. Recently

~ your school celebrated the World Environment Day. Giving

details of the celebrations write a report in 100-125 words for

your school magazine. 10
OR

You have witnessed a train accident in which a Delhi bound
Guwahati Express got derailed. Write a report 1n 100-125 words
to be published in The Sentinel, Guwahati. You are
Jayanta/Juri. ; e ' 10

Write a letter to the Editor of The Telegraph, c.o.mplaining about

the noise pollution in your locality drawing the attention of

the Government to take steps to check the same. Sign as

Mohan/ Anjali, Fancy Bazar, Guwahati, 10

28T ENGL 7] _ | Contd.



OR | | () | An earthquake desti*"dyed the town.

You are Sourabh/Rimpi, of North Lakhimpur. You have seen
an advertisement for the post of Assistant Teacher in
Mathematics to teach classes IX and X in Gohpur High School. _
Write a letter to the President of the managing committee of | (d) He was taught this in his boyhood.
the school, applying for the job. Give your detailed bio-data
as well. b . 10

(¢ Whom did you laugh at?

(e) ~ Shut the window.

SECTION C IS : LI .
7.  Rewrite any five of the following sentences using the verbs
(Grammar : 20 Mmkg) given in brackets in their correct tense forms :
' | - - 5x1=5
5.  Change the form of narration in the following sentences :
' 2x2=4 (@ He__  (work) here since 2011.
(@) The Speaker said, “I thank yoﬁ, ladies and gentlemen, : ;
| » letter last night.
for giving me a kind hearing. When I arrived here ® 1 (aite) e Jetter _ &
yesterday I did not believe that I might meet so large a | - .
gathering”. i _ . _ (© He_____ (sit) in the library when I saw h1m
(b) His mother exdaimed in sorrow that she had not a bit of _ _ ' ' .
: i not do) it.
bread to give him and that he had eaten up all the (@ idh L weze Hon .( )
provisions she had in the house the previous day. ' , ' -
(¢) The first World War _____ (last) for four years and
e | ended in 1918.
6.  Change the voice of any three of the following sentences :
: 3)( 1:3 ; : ; e y .
(/  The rubbish van (come) again in the afternoon
(@) A Japanese firm makes these television sets. _ _' ; - tomorrow. :

28T ENGL ' €] ' < | 28T ENGL 191 Contd.




8.  Rewrite any four of the following sentences ﬁlling in the blanks

with appropriate prepositions :

He is fond

(a) playing cards.
(b) ‘She was annoyed missing the bus.
()  Who is responsible breaking this mirror ?
(d) We tried to dissuade her .marrying an old man.
(e) They are thinking moving to another house.
9.  Rewrite any four of the sentences as directed :
4x1=4
- (a) This is one of the best colleges in the North.
(Change it into comparative degree)
- (b). You are richer than 1.
: (Make it negative without changing the méaning)
' (¢  There is no smoke without fire.

(d)

- 28T ENGL

(Make it affirmative without changing the meaning)

We heard of her failure.
 (Make it a complex sentence)

[10]

4x1=4

(e)

He admitted that he had done wrong.
: (Make it a simple sentence)

Unless you work hard, you will fail.
(Make it a compound sentence)
SECTION D

(Text books 45 Marks)

10. Read one of the following extracts and answer the questions
that follow : -

(@)

28T ENGL

“Perhaps the Earth can teach us

as when everything seems dead

- and later proves to be alive.

Now I'll count up to twelve -

and you keep quiet and I wiil'go”.

Questions :
- () What can the Earth teach us? - 9
| (i) Why does the po'et count up to twelve ? 1

(iii) What will ‘keeping quiet’ help us achieve ?

[11] : _ - Contd.



(b)

28T ENGL

OR

“No, in country money, the country scale of gain,

‘The requisite lift of spirit has never been found,

Or so the voice of the country seerhs to complain,
I can’t help owning the great relief it would be,
To put these people at one stroke out ofl thelir pain.
And theln next day as I come back into the sane,

I wonder how I should lii<e you to come to me i

And offer to put me gently out of my pain’”.

Questions :

(@) Wisie db ‘these lines occiir ? i

(i) Why has the requisite spirit never been found ?

1

(ii) = What does the voice of the country people seem to
say . - _ 1

(iv) What will be of great relief for the poet?

[12]

11.

12.,

Answer any three of the following questions in 30-40 words :

(i)
(i)

(iii)
(iv)

(v)

Answer any five of the following questions :

(@)

®

(c)

@

(e)

0

(g

28T ENGL

3x2=6
What increases continuously in ‘A Thing of Beauty”’ ?

What is considered to be ‘an exotic moment” in “Keeping
Quiet’ ?

What are the ‘merry children spilling out of thelr homes’
symbolic of ?

Who are referred to as the ‘flower of cities’ 1n ‘A Roadside

Stand’ ?

Which thmgs irritated the passers—by who stopped at
the road-side stand ?

bx]=5

What is the name of the blacksmnth in ““The Last

Lesson” ?

What is the “great trouble with Alsace”?
Why have Saheb and his family mlgrated to beemapurl ?

Who is the ‘Chota Sahib’ in the ‘Memoirs of a Chota
Sahlb'

How did John Rowntree find the weather when he
arrlved at Gauhati ?

Where was Champaran ?
Which country does Danny Casey play for ?

[13] _ Contd.



13. Answer any five in 30-40 words :

(@)

(b)
(c)
(d)

(e)

»

(g)

14.  Answer any one of the following questions in 80-100 words :

(a)

(b)

28T ENGL

5x2=10

‘Will they make them sing in German, even the

pigeons ?” What doésj this sentence suggest ?
What are the two different worlds in Firozabad ?
What was the promise made by Anees Jung to Saheb ?

What unusual visitor did Rowntree have in his bungalow
one night ? '

Why did Gandhi choose to go to Muzzafarpur first before
going on to Champaran ? '

What job is Geoff engaged in ? Does he entertain wild
and impractical dreams like his sister ?

What kind of a person is Geoff ?

1x5=5

Describe the bangle makers of Firozabad. How does the

vicious circle of the Sahukars, the middlemen never allow

them to come out of their poverty ?

OR

Relate Rowntree’s experiences of floods in Assam.

[14]

15. Answer any one of the following questions in 125-150 words :

(a)

(b)

1x7=7

Describe Tishani’s journey to the end of the earth — the
Antarctic region, and his experience during that journey.

OR

Discuss the forms of discrimination projected in the
narrations of Zitkala-Sa and Bama.

16. Answer any four of the following questions in 30-40 words :

(@)

®)

(c)
(d)

(e)

28T ENGL

4x2=8

What was Zitkala-Sa’s immediate reaction to the cutting
of her hair ? '

What did Annan say about his community to the
narrator ?

How has Antarctica remained relativély pristine ?

What are Geoff Green'’s reasons for including high school
students in the “Students on Ice’ expedition ? '

What is it that draws Derry towards Mr Lamb in spite
of himself ?

Why aren’t there any curtains at the windows of
Mr Lamb’s house ?

[15]






1. Give brief answers to any five of the following :

(a)
(b)

(c)
(d)
(e)
h

(8)
(h)
(i)
()

2. Answer any five of the fellowing ;

(a) What 'occupatieh.did the verger take up after resigning from

28T ALTE..

GROUP — A
(VIBGYOR)
(NEW SYLLABUS)

At what age did the verger begin working ?

What did the verger want to buy while walking on the street |

after losing his job ?

Name the-author of ‘The Teetament of a Walker' ?
What is an automobile aCCo}ding to the euthor ?
Where did Mriganko Babu’s driver go to fetch petrol ?

Where did the scarecrow ask Mriganko Babu to look for his
watch ?

Who did Della go to to get money for Jim’s present ?

What was ]1m s glft for Della ?
Who is the first philosopher mentioned by Lynd in his essay ?

What did the thief in Lynd’s essay buy for a high price ? .

2x5=10

the church ?

[2]

1x5=5 .

(b)
(©)

(d)

XG

Q)
(h)
(i)
G

(a)
®)
(c)

(d)

{e)

28T ALTE

'GiVe brief answers to any three of the following :

How did the verger treat his gowns ?

Why do you think the author is indifferent to the mention of
any petrol hike 7.

Which pert of the authors’s car could net ordina'ri.ly be
replaced ? ' ' N |

‘What did Sudheef not pay any attention to ?

Who was Abhiram ?
Why was Della worried that Jim would be displeased ?
What did Della do a-fte_r re.aching home e

Who was Socrates and what did he promote ?

Why is Pliny the Elder famous ?

4x3=12 _
In your opinion, what kind of a person was the verger ?
Describe the author’s ‘imporfe_d_caf’.

Attempt a description of the western side of the road as seen

by Mriganko Babu.

Describe what Della does from the moment she deudes to
earn money for Jim's glft till the moment she earns Thy

'On what points does Lynd agree‘ with E.pictetus 1o

3y - * Contd.












 their 60’s, enjoying a world tour, loved visiting places that offered

~them a change from urban spaces. Vera says, “India is a perfect

place to witness a blend of culture and religion”.

Most of the people in the gfoup are visiting India more than once

and their love for India is never-ending considering the frequency

- with which they visit the country. The group consisting of about
15 people first went to Kolkata before visiting Assam. “Kolkata is

 like a mini India”, says Vera. “You see all sections of the péople

everywhere”’. They moved to Nameri to enjoy the wildlife and

serenity of the place. The group then planned to go to .Kaziranga. '

They did not hide the excitement of Seeing the one horned rhino

for real.

(@ How many times has Vera visited India ? 1

(b) What are the places she 'i__r_{tends to visit or has visited this

time ? i - | L
(c) What, according to Verr;i.s India pé;rfeclt. for ? S
(d) What displays the grotip"sl love for _Ihdia /s | B 8
(e) thit'are Vera’'s vliéWE,_on Kolkata z | | o 22 :
- Attémpt a description f:;f _tile group and its journey. 4

28T ALTE _ _ [10]

14. Answer any five of the following :

(@)

(b)
(©)
(@

_(e)

(8)

(1)

(1)

A

GROUP-C
(EFEUSIONS)
(OLD SYLLABUS)

w1x5=5

What do Alexander, Atilla and Caesar feprgsent for
Ambedkar ? ' -

What is Carlyle the apostle of ?

What is it in a car that Narayan is impervious to ?

Where, according to Narayan, does man’s ultimate destiny

lie ?
Where, as a square peg, is Nehru afraid he is in ?

Who or what, according to Nehru, is not direct’ly.responsibl_e

for this state of affairs of the Congress ?

‘What, according to Forster, is a mental starch ?

What does Forster consider as something comparatively solid
in a world full of violence and cruelty ?

Where do early records of writing survive much longer than
they would in less parched soil ?

‘What was it that filled Lao-Tze with horror bécause they were

"~ unnatural ?

28T ALTE

[11] . : ' Conid.
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Answer the following questions :

1x12=12

Fill in the blanks :
QT I 99 T 8

(a)

(®)

(c)

@

(e)

o

)

28T EDUC -

Multipurpose secondary schools in Assam were established on the

basis of recommendations of Commission.
SPTS Tl N [T R Eﬂmﬂaﬂmr—ﬁz—ﬁ
4 2z |

Absence of direct contact between teacher and student is an
important characteristic of . education.
e o B ee oerw AiET Sl
wFgsd @RE|

Stimulus has no _inﬂﬁence on attention.
AT SHIAe (I 2SI RIS |
Through repeated attempts a student succeeds in computing a sum

by himself, Such learning is supported by method of
learning.

TR BB DR o FaZ Bl ST WS IRFETSN FRAT T 2| T
el et M ofaled A FLS | .
Counselling is function of mental hygiene.

Wmﬁmﬁawémﬂ e e o

All scores are taken into consideration in fmdmg out as
measure of central tendency

@@EIMWCW%\W‘?I i

241

Give short answer in, one sentence :

45t =ere 57 Seq fral ¢

What is the objective of “Early Childhood Care and Education’ ?
‘SISl TR TF W MY Sy [ e

Who introduced the concept of population education ?

Tl PR ARG (I SIS FiaRe ?
[2]

B o - T

(@)

()

(k)

@

‘Learning involves totality of percepﬁon — which method of
Learning is related with this statement ?

“Ierel W @Wf*‘f@@fﬁwﬁa — 3 BTGTHIR Fore Frme (RGB!
NS To® (2 =rg?

Is it correct to say that memory always aims at the past ? — Justify
your answer.

S T ST IF R ?FQI@T YA 2 (O Tess WdTe Ife
SIRICBHRT |

Mention an objective of mental hygiene.

R Hg [ G S S 9 |

25% of the scores in a distribution is less than the score 10 and 25%

is more than the score 40. Find out the quartile deviation of the
distribution.

-ﬂmﬁ—aq@%aﬂazs%aﬁwaﬁmwwzs%aﬁmm

ﬁ%‘%iﬁﬁmﬂﬁmrqﬁsﬁgﬁﬁcﬁw|

2. Describe two important problems of Secondary Educatién in Assam.

WWWW W@W@WWI

: : 2
O WG Ml zb‘r sl ?M’m 41 |
3. Mention fwo lmportant features of Distance Educatmn . 2
S ffmsw 7o @W?L‘f o @z:m Sl
4.  Write two objectives of Env1ronmental Education. | ; 2
ST PRI 75T Sraey e
9. Mention two benefits of zmpartmg Physical Educatxon in school

6. Mention two educatmnal apphcablllty of condltmnmg method of learning.

WWWWWWWWI

28T EDUC

3 .

(3] Contd.



10.

11.

12.

13

14.

Or/d

“Learning is nothing but a process of solving problems — What is your
view ? - 2

“ el aﬂﬁwmamaﬁmem%@w G T — c—mam—ﬁw _

Briefly show the difference between ‘trial and error method and
‘insightful method” of learning. 2

o ‘LB Wi T AR Wi ‘S S’ S SRS ol |

Write a note on the differences between Retroactive Inhibition and
Proactive Inhibition. 2

WQ:@M&@WWW@WWW&% (oI ol |

“Instinct is an 1mportant condition of attention”” — explain. 2

“2fE AR B g 567 — TGl F

Mention two points showing the relationship between education and
mental hygiene. 2

ﬁwwmﬁwﬁw«mm&ﬁrﬁq@mamn

“Mental health depends upon adequate satisfaction of our needs”.

— Explain this statement. 2
WWWWW@WWGWWW

— YR R AL

Why Median is considered as a positional measure of central tendency ?

Write the formula for finding out median from grouped data.
I+1=2

wm@@ﬂmww (&R 3 R W®9ﬂiﬁ‘ﬁﬁﬂﬁww -

Tcﬁf%ﬁ’m

Mention fwo uses of statistics in education. ' AR 2

ﬁw@ Ay Reems 751 Wq'-@mwr

erte four functions of ‘ Board of Secondary Educatmn, Assam’ as given by
‘Secondary Education Act, Assam, 1961". 4
“Wegis Bt Siize, ST, 19613 911 &S oo Tepfie Rl GG AT
o4 T4l

28T EDUC 4]

15.

16.

17

18.
19.

20,

- 28T EDUC : [5]

et e SRR T el |

Write briefly the suggestions given by Kothari Commission - regarclmg
structure of Secondary Education.

AGIEs W FRo1on ToAE mﬁwewmwmml

given' by Mudaliar

Describle the suggestions Commission for

improvement of vocational efficiency among students. 4

Qe G (e Safed A JOiferma Sucaae A< 7z 9 54 |
Or/ 3 .

Discuss the suggeshons given by National Policy of 1986 to equalize
educational opportunity.

TS ATOIT FAIe 2R AR mwmw@ffﬂaﬁ%wmww
ST 4 |

Suggest four measures for imparting poPuIation education in educational
institution. - 4

ﬁmqmr TR f*‘fm AR AR BIFEE v SeRCER |
s et
Discuss the scope of Environmental Education.

Al BT AR T S w11

Write the educational importance of the ‘Law of effect’ of learning.

Mention four educative value of 'insightful method’ of learning.

My S 2me’S wﬁi‘f iR BT e 4|

Explain the concept of analytical and synthetic_ attention with eﬁcaznple;

WWWRWWWWW°PWQWWWE ;
Or/3

~Describe four mental causes of forgetting.

WWWWQWW1
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21.

e

24.

Write four important objectives of mental hygiene. 4

TR FYReRR e ewgsld Soal ol

What is Pie diagram ? Represent the following data of students’ enrolment
in a primary school by a Pie-diagram. 1+3=4

7% oo &2 aﬂﬂaﬁwﬁ@ﬁﬁwmﬁww@@%m@w@wﬂ

=0
- Class No. of Students J
(c=@) (FERAT 7R
T 48
Wiws ; 40
1T 40
IV L3R

Construct a histogram and a polygon of data given in the following table

on same axis (use graph paper). 4

TWW@%WW&WW‘HW@@@TWWWW |

Ok 41 | (Graph F9& 2T TR

Class-interval Frequency
(CEﬁI W) (FRATS)
45-49 2
40-44 4
3539 8
30-34 6
25-29 5

3

20-24

What is Non-formal Education ? Descrlbe the 1mp0rtance of Non-formal
Education in present day society. 2+4=6

mwﬂmﬂm%?mwmmﬁmﬁwamma®W| _

What is Value ? What measures we can take for 1mpartmg value education
in school ?

wmﬁmﬁmwm«ﬁwwwwﬁﬁsﬁswmaﬁam?

sEEDUC. 16}

2+4=6

26.

27

or/d

What do you mean by women empowerment? Discuss the role of
education in women empowerment. 2+4=6

ﬁwmﬁ@ﬁﬁ%ﬁ9mmﬁw¢ﬁwqﬁaﬁmw
-4 |

Explain the process of memonsatmn Briefly describe four marks of good

memory. 2+4=6
¢ =& [ T4 | O YT EI%‘IWGIBWHGI’WT@N

Or/
What is Interest ? Discuss the characteristics of interest. 2+4=6

ez e Seeq (@REE WE SN B9 |

What is Central Tendency ? Find out Mean of the following distribution
table by Assumed Mean method. ' 2+4=6

@ﬁﬂmmﬁﬂm"%wwﬁawﬁ—m—ﬁww
AT w1

Class-Interval Frequency
(CR-=rzate) FRATS)
40-44 5
3539 8
30-34 8
2500 - | / 10
20-24 e
15-19 6
10-14 5
5-9 3
0-4 5
N =60
x
28T EDUC 171









(@

e

(g)

M)

i : ; 2
' | 1858 5w 3z *«F@ﬁmw ﬁt&@_mﬁamﬁw

Who were the ‘Alvars’ and ’the_Nayangrs-’ ? L 2
What was ‘-Milkiyat’ ? | | | | : 2
‘Srefears’ & 2
What do you understand by ‘Kitabkhana' ? | g
BT S 7 |
.-Menﬁon two women leaders of the Revolt of 1857. : : 2

@)

4

()

28T HIST

What is ‘Buranji’ ? Mention the name of a Buranji written in the
Ahom period. ; 2

‘ﬁ@’ﬁs?.ﬁm‘gﬂ@aﬁaw TRED N T F4U| .

Name the two rebels of Assam hanged by the British in 1858.

1857%%@&%@@?@@%?”1

Why was s the Lahore Sesssion of Congress, 1929 important in Indian _

hlstory ? . _ - 2

1929@%%#@&%@@@%& é@wf?

Describe how did women experience the partition of India. 2

Wﬁ@l@mw‘%@tmw I Sfie 2 01

]

@

8. Ans_wef the following questions : (any eight)

Mention two measures recommended by the Constituent Assembly
for the abolition of untouchability in India. ' i

wwﬁﬂﬁ@awaﬁmrﬁwmzﬁww
|

5x8=40

Ooq RIS W Rl - (e Wféﬁ’)

(w)

C o
' ~wealth for men and women? Do you thmk that these means
3+2=5

©
@
@

28T HIST

Give a descnptmn of the town planrung of the Harappan

Civilization. - S : 5

_ﬁﬁlﬁmﬂ‘wwiﬁﬁﬁﬁﬂﬁﬁﬁﬁqml

What were, accordmg to ‘Manusmriti’, the means of acquiring

differentiate men and women D

e W@%ﬂwmﬁsﬁs%ﬁmmwwﬁamﬁ%
AR AR 737 A% e o9 Sz JF offl SR » -

Summarise the central teachings of Buddhism. o B .

mm.WWWW.

Give a description of the Ahom capJ.tal Garhgaon as described by
Shihabuddin Talish. . - 5
%@%@Wﬁamwﬁwwﬁwamaﬁaﬁﬁm

D1s_cuss the rol'e of women in the agrarian 'society of medieval India.
TGP SIves FRGRET e 1Rk ol SiEs =1 '

..[5] | i . Contd



(g

)

R

()

28T HIST

Give a description of the defence arrangements of Vijayanagara.

4+1=5

R o a2 off 1 1 & e Rt i e
SR 2 B

Why did it enclose the agricultural tracts ?

How 'was land classified under emperor Akbar ? How was Jand

revenue assessed ? 3+2=5

meﬁmmﬁﬁﬂﬁwﬁ% ? NI woige
mmﬁww?ﬂ%?

How.did the American Civil War affect the lives of ryots in India ?
e _ :

What were the concerns that mﬂuenced the Brmsh m their town

planmng in India in the 19th century ? 5

_memwﬁsﬁsﬁ@mﬁmaﬂwwﬁwvw

CoeTIEfee ¢

Mentlon the arguments raised by some members in the debates of

the Constltuent Assembly against separate electorate system.. 5

qwﬁmwﬁﬂwwﬁmmﬁwﬁsgmmﬁsﬁsq@
WT’?&"IWWI

[6]

4. Read the given passages carefully and answer the questions that follow :

O AT ST A5 T i Sed B -

@

28T HIST

‘Evidence of an “invasion”

The Rigveda mentions pur, meaning rampart, fort or stronghold.

Indra, the Aryan war-god is called puramdara, the fort-destroyer.

Where are-or were - these citadels ? It has in the past been'eupposed _
that they were mythical... The recent excavation of Harappa may be
thought to have changed the picture. Here we have a highly evolved
civilisation of essentially non-Aryan type, now known to have
employed massive fortifications... What destroyed this f_irmly settled
civilisation ? Climatic, economic or political deterioration may have
weakened it, but its ultimate extinction is more I1kely to have been
completed. by deliberate and Iarge—scale destruction. It may be no
mere chance that at a late period of Mohenjodaro men, women, and

chﬂdren appear to have been massacred there. On c1rcum5tant1al

evidence, Indra stands accused

From R. E. M. WHEELER, “Harappa 1946”, Ancieit India, 1947,

(f) What is the meahing of the word ’pu'r" 2 1

() Who'is Indra ? Why is he qalled ‘puramdara’? 2

(i) What might be the causes of destruction of the Harappan
civilization ? : - sn i 3

7] o e
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o T

- 28T HIST

. %, . AR 2, 3589’ (Harappa, 1946) ST o5 ©WS, 3384

(Ancient India, 1947) 9 7@ TS|

() o e e 2

(i) Bm @R 2 (06T ?EW qﬁl%n @R =
(i) sl TSR oo 5 R TR A0 29 AL |

18]

Or/ &<l
Languages a_nd Scripts

Most Asokan inscriptions were in the Prakrit language while those in

the northwest of the subcontment were in Arama1c and Greek. Most

Prakrit inscriptions were written ‘in the Brahmi script ; however,

some, in the northwest, were written in Kharosthi. The Aramaic and

Greek scripts were used for inscriptions in Afghanistan.

() To which source of history do the inscription belong ? 1

(i) In which languages the Asokan .inscriptioﬁs were written ?
: . ' 9

(iii) What were the scripts used to inscribe the Asokan inscriptions ?

o e

Ww%ﬁawwﬁewwwwﬂﬁwﬁ%

ot i I O S| (SRR X A5 @ ReE ANIES Tl

as%rwowrwwWﬁﬁrﬁmeaﬁew-

i i el Zﬁfi?ﬂ '

) %ﬁﬁ@a%ﬂwm?

(i) Wﬁmﬁs%wmbﬁm

o Wﬁﬁm}@ & & o WW 2 2
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(®)

Widespread poverty

_ Pelsaert, a Dutch traveller, visited the subcontinent during the eafly'

decades of the seventeenth century. Like Bernier, he was shocked to
see the the widéspread poverty, “poverty so great and miserable that
the life of the people can be depicted or accurately described only as
the horﬁe of stark want and the dwelling place of bitter woe”.
Holding the state responsible, he says : “So much is wrung from the

peasants that even dry bread is scarcely left to fill their stomachs.”

(i) Who was Pelsaert ? Which country did he visit ? 2

(i) Why was the shocked? _ : i

(tii) Why were the people, according to him, poverty stricken ?
' 2

cﬂamﬁw_emwﬁwﬂwn@ﬁm"wawﬁww@a

ol I SREE | AT wE o wREeR Tieieel (Rl Bive
2R, “HREel T Ol T TAIT NEET (@ N SR 496) e i -
FEN @ Ao M IR AR @@ g JeEE FARe| = THA

TGRS S SRR A | O A T5E G A o) od e,

‘TSR] 2 SO AT SR W41 (2feE (@ TR (SEERT

ToE (6 SRR S o Fhe TR

() (T (R 2 (O€ (P O I e 2

28T HIST

(i) (o8 n Bfee tafed ¢
(i) (094 o TFAR R HREOlE e 2

[10]

28T HIST

Or/ 9%t
Travels of the “Badshah Nama’ .

Gifting of precious manuscripts was an established diplomatic
custom under the Mughals. In emulation of this, the Nawab of
Awadh gifted the illustrated Badshah Nama to King George III in
1799. Since then it has been preserved in the English Royal

- Collections, now at Windsor Castle.

In 1994, conservation work reqﬁired the bound manuscript to be
taken apart. This made it possible to exhibit the paintings, and in
1997 for the first time, the Badshah Nama paintings were shown in
exhibitions in New Delhi, London and Washingfon.

(i) Who wrote the Badshah Nama and why ? e 2

(i) Who gifted the Badshah Nama in 1799 and to whom ? Why did .
~ hedoso? : : 3

(i) Why did the Mughals present such manuscripts as gifts? 1
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The Azamgarh Proclamation, 25 August, 1857

Section Il — Regarding Pybh’c_ Servants. It is not a secret thing, that
under the British Gc')vemmeni,. natives employed in the civil and
military services have little réspect low pay, and no manner of
influence ; and all the posts of dlgmty and emolument in both the
departments are excluswely bestowed on Enghshmen, Therefore,

all the natives in the British service ought to be alive to their rehglon

and interest, and ab]urmg their loyalty to the Enghsh side with the

- Badshahi Government, and obtain salaries of 200 and 300 rupees a

month for the present, and be entitled to .high posts in the future...

-(i). Who issued this proclamation and to whom ? D
(iig What was the Badshahi Government referred to here ? 1
| (Gii) Why were the puEIic servants asked to join them ? : 8

GG Caraell si@, 25 Si9S, 1857
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“Without a shot being fired” :

This is what Moon wrote :

For over twenty-‘foui'_ hours ﬁotous mobs were allowed to rage
thfough this great cofnmercial city unchallenged and unchecked. The
finest bazaars were burnt to the ground without a shot being fired to
dlsperse the incendiaries (1 e. those who stn'red up conﬂxct) The

District Magistrate marched his (large police) force into the city and

marched it out again ‘without making any effective use of it at all...

(i) . What was. the cause of this riot?2 - : ) 2
(i) Why could not the riotous mob be challenged? 2
sl Codt,






